









































































































Review Finals

17.8 Usethe divergencetheorem
to compute netoutwardflux
of F Cx 241327where

S is thesphere 2 4722 6

AndJJends SSI 7 Fdr

I.fi t 2t3 2

JfJ2dv 2 volume ofsphere
of radius Te

2 4 ra

2.436ft
Kerf












































































































Compute the line integral

fear by setting up the surface Ans A

integral in StokesTheorem
with

an appropriate choice of s Assume

jegCha counterclockwiseorientation

F C Y z t c is the circle y

Pty2 12 in the plane 2 0

S run a luck using
0 4 ET
O E V E21T

fear SIXF nds JEE LI tDdAC S

D co anti l o j co g h
11 1 297 Ll 1 2usinv

tu ecosuisinvio tuxtr 11 4 4 20.947
tr G usingUcosv o

1
at

Zu'sinv du du












































































































17.35 Is CyÉ É 7 conservative

Ansi

f z y My












































































































122 Evaluate JF Tds where

F GYM on the parabola yet
From10,0 to lil

rut C1 247I

1

1
011 21

I F Tds IF r't at e 2 that elia

after

o

t 2 tht a that Itto

D












































































































16in
Convert the following to cylindrical
coordinates

I F yz
dedydt

3 O o

yer sinQ
Z Z

dardzdr do

f razardo












































































































112 Reversethe order of integration in

the following integral
pyoga

Ifanfly dydX I

e

É R
i s

s

Answer

3 4 6 8 14 3

1 fly4 dydy z J J FAM dxdy
4 0 8 0












































































































18 Find the absolutemaximum value of

Flay ray subject to the constraint

8242 4

Ansari g x y ray 4 0

Of Itg
Of 21,27

Tg 52 x 247

51,27 7 Eazy
I 2x f Eet IIF2 724 D y
x'ty 4 01
y't 127 4 0

2 4 2 4 0

5 24 0

x
É

x2 Is

tf
Absolutemax YE 255






































































































5.7Findallcriticalpoints of the function fley E B t 3say

Foreachpointis determine if it is a localmin moresaddlepoint

f set3g 0

3
y te

fy y't3K It 0 foe 32 0

3x

24 27x 0

x 23 27 0

x 0 or 13 27

x o or a 3
Case x 0 y t 020
Case x 3 y

13.32 3

Criticalpoints are 10,0 3 3

face 2x tyg ay fry 3
D faxfyy fay hey 9

Dcoo 0 9 9 20 10,0 is saddlepoint

D 3 3 4.30135970 fax13 3 2.3 30

3 3 is local man



15.6 Find an equation of the planethat is tangent to the

surface 533 2 atthepoint PC1,0

742 2y223

IF Fx Fg Fa

L 1 2 622 1

FF 21,0 21 2 1

Plane 141 2,17 pass through22,1 07

Ign 1 2,1 say2 21 2,17 2211,07

x 2yt2 2 2 0 0

x 24 2 0



15.4 FindWs interms of set if

wesayt eat yet
x stt

y St

2 43

I Ws Woe s Wy Ysfly 2

III 2xytz I Ate t

Zay t z t It tell

2 Stt Cst
3 Stt t t et



15.2 Usethe two pathtest to show that the following limit

lim
Ag310,0

doesnotexist

Limitalong x axis ly0 If É ImoEs lift1 I

LimitalongyaxisGc0 lying Iya gig Ya lying 1 1

Limitsalongaxes different Limitdoesnotexist



14.5 Findthecurvature kit ofthe curve Elt LEsint sint 2cost

PG FE 253cost cost 2sint

18Ct J 3cost cost 4sink

I 4cost t 4 Sint

54 2

TE Egg 12253cost cost 2sint

If IS 83sint sint 2cost

É If 3sink t sink 4cost

J 4sink 44cost

I 54 1 2 1

Kee EI E I t



14.4 Findthe arc lengthofthe curve Elt 2243 43 I Otts1

IG P G L643 37 3 E

IF E I 3644 9 4 914 54 2

Length so fo Fou du

Ttus

545 F 353 I



13.5.1 Find an equationoftheline that passesthrough

4 lil and 52,3 27

Line 2 1,3 1 247 51,2 37

FG 1,2 3 t t 41 1,17

3.5.2 Findan equationof theplane that contains thepoint

PCI 1,0 and the line Ect 1 1,074 50,0 17

Plane 1244107
a 21 1,074111,07 20,0117 4111 1

I I 41 1,0 1,1 1
01011

I 11 51 1,07 51,1 17 4140

I J t

it 541,27

Plane 1,112 74412 1,112 0,0117

0 0 2 2

Icty122 2



13.4 Findthearea ofthe trianglewhosevertices are
241,07 5211,17 41 1,17

I 2211,1 241,07 41,0117
2,11 8 21 1,1 41,07 50 2117

I

Exp
J K

11110 p 1 1,1
I 0 1 421 1 27
0 2 1

Area I text 14 1 4 32

13.3 What is the relation between it and I if 5.8 0

ELT


